St Margaret's-at-Cliffe CP School

Timetable Class 5

Tuesday Wednesday Thursday Friday

20™ July

Ninja Word of the day starting with Shinobi words for year 5 can be found here.

HANDS  FACE SPACE

gv .‘ l" You can also play some Vocabulary Ninja Mini Games here: Q @
RS Synonym Stars (vocabularyninja.co.uk)

Discuss Hands Face and Space slogan which reminds children of handwashing routine and keeping their distance. KATHERINE' RUNDE] g
We are a class bubble and we will not be mixing with other bubbles. bbbt 33 P bt bt g

We need to keep each other safe by following the health and safety guidelines in school. C Ml A .
Ghe Explorer EXPfﬁRER
by Ratherine Rundell
It has been great reading our class book this term.If you would like o watch the author;Katherine Russell talk "",':;;"" 7 byt

about her book then watch here: Katherine Rundell on food from The Explorer (WARNING: she does eat a Tarantula!) - Bing
video

You can also listen to The Explorer being read here: The Explorer by Katherine Rundell - YouTube
You can listen to the author reading the book here: The Explorer by Katherine Rundell - YouTube

Here chapter two is being read:

The Explorer - Chapter 5 - Food Almost - YouTube

And the next chapter here: The Explorer - Chapter 6 - Fire - YouTube



https://vocabularyninja.co.uk/word-of-the-day/
https://games.vocabularyninja.co.uk/games/SynonymStars/
https://www.bing.com/videos/search?q=the+explorer+by+katherine+rundell+scheme+of+work&ru=%2fvideos%2fsearch%3fq%3dthe%2bexplorer%2bby%2bkatherine%2brundell%2bscheme%2bof%2bwork%26FORM%3dHDRSC3&adlt=strict%2cstrict&view=detail&mid=7CD07B36F6089D6220187CD07B36F6089D622018&rvsmid=BE153B51D632FC0D3FE7BE153B51D632FC0D3FE7&FORM=VDQVAP
https://www.bing.com/videos/search?q=the+explorer+by+katherine+rundell+scheme+of+work&ru=%2fvideos%2fsearch%3fq%3dthe%2bexplorer%2bby%2bkatherine%2brundell%2bscheme%2bof%2bwork%26FORM%3dHDRSC3&adlt=strict%2cstrict&view=detail&mid=7CD07B36F6089D6220187CD07B36F6089D622018&rvsmid=BE153B51D632FC0D3FE7BE153B51D632FC0D3FE7&FORM=VDQVAP
https://www.youtube.com/playlist?list=PLOPKxkrtNQ8YnsWIanDiYyiDfkbGfXek1
https://www.youtube.com/playlist?list=PLOPKxkrtNQ8YnsWIanDiYyiDfkbGfXek1
https://www.youtube.com/watch?v=D-j5F7Yl2gQ
https://www.youtube.com/watch?v=fPtsItJEOYA

English

Continue reading or listening to
outr class book to discover what
eventually happens to the four
children.
ead

Pick your favourite part of the
story and draw a picture of the
scene.

In Class we will be celebrating the end
of our Year 5 and enjoying watching a
film that relates the the friendships
created in our class book : The Explorer
by Katherine

Ghe
Explorer

by Ratherine
Ruyndell

If you are working from home choose
your favourite movie that you enjoy
watching the most.

Think about the friendships that are
between the main characters of the
movie.




Maths

WALT: be able to solve word
problems

How well do you know your times
tables?

Plat on TT Rockstars to improve
your skills further.

You can access the webpage

here:
Times Tables Rock Stars: Play
(ttrockstars.com)

Enjoy playing some of these maths
games here:
Maths Games for Year 5 Kids Online -

SplashLearn:

Can you solve the Mystery of
the Missing Medals?

Search below to discover the
clues. Use your detective skills
to solve the case.

WALT: be able to draw polygons accurately using
a ruler to the nearest mm and protracter to the
nearest 1°

TASK

First you need a dice and ruler along with a
protractor and pencil.

You are going to draw a polygon with 3,4,5 or 6
sides.

Once you have drawn the four shapes you are
going to measure each side in mm and each angle
in degrees.

What do you notice about the inside angles of a
shape.

Can you designh a T-shirt that symbolises or
reminds you of this year 2021.

Look below for the picture of a T-shirt design
to help you



https://play.ttrockstars.com/auth
https://play.ttrockstars.com/auth
https://uk.splashlearn.com/maths-games-for-year-5
https://uk.splashlearn.com/maths-games-for-year-5

Science
WALT: be able to describe the
life process of reproduction in

some plants.

How do plants produce seeds
and reproduce?

The following video shows how:
How plants produce seeds - KS2
Science - BBC Bitesize

TASK

Investigate different types of
plants and their seeds.

Now create your own
information leaflet to explain
the life cycle of a plant
Access this lesson using pin
code: 6X1948

at Twinkl Go

Remember to include diagrams
and labels.

How does the flower change
over time?

Watch this clip here:

The life cycle of a dandelion - KS2
Science - BBC Bitesize

Also here:

How does fruit grow? - KS2 Science -
BBC Bitesize

Record the following:

1. Formation and growth of
the flower-bud



https://www.bbc.co.uk/bitesize/clips/zfx76sg
https://www.bbc.co.uk/bitesize/clips/zfx76sg
https://www.twinkl.co.uk/go
https://www.bbc.co.uk/bitesize/clips/zs9c87h
https://www.bbc.co.uk/bitesize/clips/zs9c87h
https://www.bbc.co.uk/bitesize/clips/zqcb4wx
https://www.bbc.co.uk/bitesize/clips/zqcb4wx

2. The flower opening

3. The flower withering and
the petals dropping of f

4. As the flower withers,
the fruit begins to grow in the
middle of it

5. The fruit grows in size
and becomes juicy, or dries and
splits open, releasing the seeds
inside.

In school we will be
supporting our year 6
friends as they enjoy
celebrating their end of
Primary School Assembly




Design a Class of 2021 T-Shirt ;

Can you design your own class of 2021 T-Shirt? You
could be inspired by a funny memory from the year,
your favourite topic, or maybe just a design you like!




The Mystery of Missing Medals

1t i the eve of the HuffandPuffington Primary School Sports Day. The preparations were going
well until Mr Bolt found that all the medals had been stolen!

Mr Bolt cssumes that they went missing overnight az Mra Farah said that she definitely put
them in the sports hall store the previous afterncon.

CCTV covers parts of the school but not the sports hall store. You are the detective in charge of
the caze and, with your trusty Scene of Crime Officera (SOCO0s), you need to find the perpetrator
before the whistle blows to start sports day tomorrow morning!

Solve the clues to eliminate all-but-one of the following suspects based on their gender, the
sohool house colour they are in, their handed-ness, shos size and their personal bast time for
the 100m.

Good Luck ... HuffandPuffington Primary School Sports Day is depending on you!




The Mystery of Missing Medals

Nama M/F Housg Colour | Hamdad Shoe Size | 100m Sprint PB
Alvin Athlata M Rad Laft 4 13.56 secs
Ann Asrobic F Grrawn Right 5 15.82 socs
Billy 5. Blocks B Blua Right 7 1399 secs
Bronwyn Baton F Yallow Ambidextrous |3 15420 secs
Choy Circuit M Fad Right [ 17.22 secs
Chen Crowd F Grrawn Right 5 13.67 cecs
Dion Discuws M Yallow Right 5 15.33 secs
Diana Decathlon |F Blus Right B 15.83 secs
Eddy Eggnzpoon M Yallow Right [ 16.21 secs
Edith Exercize F Blua Laft 7 15.97 secs
Ffion Firstplace F Yallow Right 5 13.72 macs
Freddia Finishar M Grrawn Ambidextrous |4 17.30 seos
Gareth Gold M Rad Right & 15.66 secs
Geargis Gools F Blua Right 3 14.51 secs
Heidi Highjump F Fad Right 7 13.22 secs
Hassan Hurdla M Grrawn Right & 15.01 secs
Tvan Inzpire M Blua Laft 5 15.63 moce
Iziobal Infield F Fad Right 5 14,59 cecs
Jake Jowelin M Yallow Ambidextrous |4 1575 secs
Jay Jump F Grrawn Right & 16.21 secs
Katie Kickball F Rad Laft & 15.03 sacs
Kaszpar Kithag M Blus Right 5 1399 zecs
Lena Longjump F Yallow Right 3 15.33 secs
Luthar Leg M Blua Right [ 15.12 secs
Mohammed Medal |M Grrawn Ambidextrous |5 13.59 secs
Maric Marocthon F Rad Right B 17.50 oo
Maimh Mt F Yallow Laft 5 16.01 sacs
Moah Wutrition M Gragn Laft 3 15.88 oocs
Crlz Cverarm F Grrawn Right 7 15,55 seos
Crzgur Clympic B Blua Right b 16.52 secs
Pamela Putt F Yallow Ambidextrous |5 15491 secs
Pable Pentathlon | M Fad Laft &4 15.31 saos




The Mystery of Missing Medals

Clue 1

The SOCOz have found a snagged pisce of t-shirt on the door catch of the store. The culprit
woamz to have out themselves at the zame time, enabling the SOCOs to analyse the blood
sample and find out something key about the criminal.

Work out the anawers to each of these questions and the number given will be a letter of the
alphabet using

A=

 ?

© B N e m oFowon

2
m F B R 2B

. Vertioss on a heptagon = vertices on a sphere =

1,B=2,C=3 etc.

Sides on a triangle * faces on a pentchedron =

Vertioes on an octahedron =

Faoes on a cuboid =

Sides on a parallslogram + ourved surfaces on a sphers =

Faoces on a hexagonal-bazed pyramid * flat and curved surfaces on a cone =
Vertioss on an octagonal prism + right angles in a rectangls =

Faoes on a triangular prism =

Edges on a hexagonal prism =

Degrees in a right angle + sides on a decagon =

Faoes on a icosahedron - edges on a cone =

. Faoces on a hexagonal prism + edges on a square-based pyramid =

Edges on a triangular prism =

Vertioes on a triangular prism * faces on a cylinder =
Faoces on a dodecchedron =



The Mystery of Missing Medols

Clue 2

Although the CCTV comara do not cower the sports store, they do cover some oreos aroend the
store and the cameras did catoh somsone around ot lam this morning...

From the CCTV footoge, you con see that the culprit moved wery quickly from one CCTV aren
to another. That hos helped you deduce thot they must be abls to run quite fost.

Solve the caloulotions below and the most popular answer will give you the slowaest time that
tha culprit muszt ba abla to run 100m.




The Mystery of Missing Medals

Clue 3

The S0C0s hove found one medal dropped by the culprit. The fingerprints on it motch fingers

prints on the store cupboord of o certain house. Solve the crossword below to revecl the answer.

Across

Down

3. The proper nomae for o cormar.

L. The square root of 36.

6. Thiz sign * means ____ than

7. Tha first integer which is not o prims number
10. &n angle less than @07,

11. Tha unit symbaol for centimatrec

12. The unit symbel for millilitres.

13. Part one of the answer to the clus. Part two
iz an cragram of the latters in the blus squores
17. Thex and y ____ form tha basiz of o groph
19 A smoll metric meesure of 16 down

21 Tha sum of sverygthing.

22 Tha bottorn number of a froction.

1. A type of dingram using circles and sets.
2. Whaot you do fo o froction to moke the bottom
numbar az low az pozzible.

3. A line that runs from top to bottom rather
thon horizontal.

5 A triangle with fwo sides the same langth
&. Comparing fwo or more things using this
sign:

9. An angle greater than 180°.

15. Half of o quartar.

15. Tha meaning of this sign <.

16. What is measured in kg or ounces?

18. A number that can ba multiplisd with
onother to make o larger numbaer.

0. Whan wou put a point on a ;'-.|:.1|'L




The Mystery of Missing Medals

Clue 4

The SOCOs have found that when the perpetrator ran away with the medals, they ran through
the newly raked long jump sand pit and left a clear footprint.

The SOCOz were able to azcertain the size of the culprit's shoe which will be revealed on zolving
the following percentage questions and then finding the mode of the answaers.

a) 1% of 600 b) 200% of 4
c) 20% of 25 d) 30% of 20
e) 25% of 20 f) 10% of 50

g) 40% of 10 h) 32% of 25




The Mystery of Missing Medals

Clue 5

Whila you were looking ot the shodowy figure on the CCTV, it wos impossible to ces any clear
feotures of the person, but they did owerarm throw the two boxes thot the medols ware in

Multiply these desimals to find o message wsing the code A=1, B=2, C=3 [ond so on) to ces
what you hove found out obout the culprit.

Ramambar whan working with decimals, it's ueeful to imagine money.

Decimal Calowloticons Ancdver Lattar

0.2 = 100

02 = &40

05 =320

026 = 20

BTG = &

115 = 20

e I

0.5=26

05 = 1o

025 =8

076 = 20

ZE=§

026 = 32

0.08 = 100

0.0 = 25

0.5 = 25

0.02 = 200

055 = 20




The Mystery of Missing Medals

The Confession

Whan the sulprit wos finally caught, they had this to say...

x 2 5 T 3 | & & & 1 o

wmle]|] |/l a|lwm|s|d]| 2| P]| %

12 B 10 15 & 21 15 27
54 55 54 36 10 L2 Ll 12 -] 15 54
B g 84 20 Gy 12 15 o 56 21 L2 16




The Mystery of Missing Medals - Answ

Cluee 1
Offendar is o girl.
(156,65 14 &5 189 19 17 9 18 17)

Clue 2

14

2 145

3. 135

& 145
Clue 3 Clue 5

Eeveals yellow house

Threw with both hands

W
g ‘v le|r|t|e|x = i | x (20,8,18,5,23,23,9,20,8,2,15,20,8,8,1,14 4,19)
“rrl. o r e rn n e a The Culpl‘it‘
P £ ®r r = Pamela Putt
| i ™ c m t e m
i c e f e The Confession:
N 1 . g . :
I =I- . : - - ' I was just ‘medalling” where I should not have been!
[+ =] [ ] [ -]
- b E)
L o] 4 [ X ] =
g . : i
h 5 g r | a | m a
t t h mp- c
h h “tleo|t|all t
[ L] L1
F - 4
'] n a m i n a t a r
Clue &

The mode answer is 5.
a} & L] 8 c] & d) & g} 5 15 q) & hj 8



Maths Mastery
Multiply and Divide by 10,
100 and 1000

Challenge Cards

@

Maths Mastery Challenge Cards
Multiply by 10
1. Correct the calculations that are incorrect:
34 x 10 = 340
0.6 x 10 = 60
5.7 x 10 = 57
0.003 x x 10 =0.3
8900 x 10 = 890
902 x 10 = 9200
8.03 = 10 = 80.3

Maths Mastery Challenge Cards
Multiply by 10

2. Correct the calculations that are incorrect:
212 x 10 = 2120

005x10=5

3491 = 10 = 349.1

50.3 x 10 = 503

0.52 x 10 = 52

9.09 x 10 = 99

71 000 = 10 = 710 000

Maths Mastery Challenge Cards
Divide by 10

3. Here is a calculation:

03+10~=

Calculate the answer.

Give two different real life examples where this
calculation would be used to give the answer.

Explain how to calculate the answer.




Maths Mastery Challenge Cards

Multiply by 100
4. In which of these problems will the answer be found by
multiplying by 100. Calculate the answers.

a. 100 children are each given £1.20. How much money is
given out altogether?

b. At a school disco, there are 34 litres of lemonade. The 100
children at the disco are each given an equal share. How much
lemonade does each child receive?

c. Some children lay 100 pencils in a long line. Each pencil is
0.14m long. What is the length of the line of pencils?

Maths Mastery Challenge Cards
Divide by 100
5. Carrect the calculations that are incorrect:
6 + 100 = 0.06
34 + 100 = 0.034
5.7 #+ 100 = 0.057
0.3 + 100 = 0.03
8900 + 100 = 89
902 + 100 = 0.92
8.03 + 100 = 0.083

Maths Mastery Challenge Cards
Divide by 100
6. Correct the calculations that are incorrect:
212 + 100 = 2.12
500 + 100 =5
34.91 + 100 = 0.349
50.3 + 100 = 0.5003
520 + 100 = 5.2
9.09 + 100 = 0.099
71000 +100=71

Maths Mastery Challenge Cards
Multiply by 1000

7. Here is a calculation:

0.04 x 1000 =

Calculate the answer.

Give two different real life examples where this
calculation would be used to give the answer.

Explain how to calculate the answer.
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Odd one out

Which of the images below is the odd

one out?
A

" P

° nuuunuuuu 1

Explain why.

OO

Possible answer:

B is the odd one
out because it

2 -
shows 2 which is

= or 04
10

The other images
show = or 0.2
10

How many different ways can you Possible answers:
complete the part-whole model using

fractions and decimals? ﬂ
100

(%) 1

2

(=) (5

Create another part-whole model like the
one above for your partner to complete.

There are various
Now complete the following part-whole possible answers

models using fractions and decimals. when completing

the part-whole
models. Ensure
both fractions and
decimals are
represented.

A number between 11 and 20 with 2
decimal places rounds to the same
number when rounded to one decimal
place and when rounded to the nearest
whole number?

What could this be?
Is there more than one option?
Explain why.

The whole number
can range from 11
to 19 and the
decimal places
can range from
95t0__ 99

Can children
explain why this
works?



Reasoning and Problem Solving .

Angle A and Angle Here are five angles. Angle e is the odd
B are the same There are two pairs of identically sized one out.
size. Ron has angles and one odd one out.
mixed up the Which angle is the odd one out? Angle b and c are
lengths of the lines Explain your reason. both right angles.
with the size of the
Angle A Angle B angles. & & 8 ®F = Angle a and d are
both half of a right
. L L L
i : angle or 45
Angle B is bigger than . degrees.

Angle A because it has

longer sides. e o o o e e Angle e is an

obtuse angle.
Ron

Do you agree with Ron? Explain your
thinking.




| have measured the
angle correctly
because my protractor
is the right way round. 2

Teddy

| have measured the
angle correctly

is on the line
accurately.

because my protractor

Who do you agree with?
Explain why.

They are both
correct. It doesn't
matter which way
the protractor is as
long as it is placed
on the angle
correctly.

Three children are measuring angles. Can
you spot and explain their mistake?

My angle
measures 35°

Mo hasn't
recognised his
angle is acute so
his measurement
IS wrong.

Alex has not
placed one of her
lines on O. Her
angle measures
257,

Dora has misread
the scale. Her

angle measures
25



White

Amir, Whitney and Mo all build a shape using cubes.
Mo has lost his shape, but knows that it's volume was White

than Whitney's, but less than Amir’s. Viath
greaterthapiyiiieys bt lesshanAmirs Shape A has a height of 12 cm. Shape B has a height of

4 cm.
Dora says Shape A must have a greater volume.

Amir’s Whitney's

Is she correct? Explain your answer.

What could the volume of Mo’s shape be?

White
- &)
(S
Ruse Eva has built this solid:

t

Jack is using cubes to estimate the volume of his
money box.

\x@‘\é

Tommy has built this solid:

Do you agree with Jack? Eva thinks that her shape must have the greatest
Explain your answer. volume because it is taller.
Do you agree?
What would the approximate volume of the money Explain your answer.
box be) © White Rose Maths 2019

© White Rose Maths 2019

He says the volume will be 20 cm?



How old is Hector?

Using this list of facts, work out how old Hector is.

+ Lottie was four when Hector was born.

+ Archie was six when Hector was born.

* Henry was ten when Hector was born.

« Last year Archie was < the age of Henry.

+ Next year Hector will be 4 the age of Mum.

* Mum is above the age of 38 and below
the age of 60.

« Last year Hector was -+ the age of Henry.
How old is Hector?

Puzzle
Pointer
Always look for the
relevant information. The
ages of Lottie and Archie
are not going to help but
the ages of Mum and
Henry are critical. Begin
by writing down the ages
that are possible then
cross out the ages that do
not fit with the rest of the
information provided.




Answer

Hector is 11 years old.

To solve this you can start with Hector being  the age of Mum next
year. We know that next year Mum must be an age divisible by 4. Her
possible age next year is (40, 44, 48, 52, 56) so this year Mum must be
39, 43, 47, 51, 55 and Hector must be 9, 10, 11, 12, 13.

Last year Hector was # the age of Henry so Henry must be (16, 18, 20,
22, 24) last year so this year Henry must be (17, 19, 21, 23, 25). You
know that Henry was 10 when Hector was born so there must be a
difference of 10 years.

HECTOR 9 10 11 12 13
HENRY 17 19 21 23 25
Age 10
difference 8 years | 9years years 11 years | 12 years




Choose one of these activaties to go alongside your reading book cach day!

In a nutshell. .

Write a ten-word

summary of the

pages (or book!|
you hove just read.

A4

Dear diary...

In first parson as the
main character,
write a diary entry
about the man
avant.

A

Som-I-Am...

How are you simdar
1o the charocter in
the book? How are
you different?
Create a table.

&,

o

Word Detective...

Find 10 woeds that
you are unsure of the
meanng and, using
tha sentence, find
the definition.

R

incredible llusiration...

Choose the favounte
poge you've read
today and create an

Perfec! Prediction...

if you're starting a
new book, befare
you begn write three

Front Cover

when you firesh the
bock can you
create a front

Act It out...

Act out c scene from
the book - can
50MEeone guass

ihustration for it. predictions you con | cover? Remember- | whaot's happening?
’ make from the front | don't give the story F y |
> \D - cover! _away!
- | 26y?
\ » i - .
V V g
Isay.. Vocabulary Ninja... 20 Questions... Decisions, decisions....

Draw a spaeech
bubble - whot was o

Find 5 words which
add armosphere to

Write down 10
questions you'd

Choose o deckion
the character has

character thinking the book. Use them want to ask the made and write
dwing the events of in your own characters from the reasons ‘for’ ond
the pone? sentence. book. ‘ogainst’.
= \‘.;
7?6 ?7 i
O o o - -
Nt o
Hear Hear... Time tfo... In the news... Vallant values...
fell scmeaone the Create o timeline for | Write o newspopear | How &d a chorocter
favouwrite part of your your book with 5 report of an event shaow our school
book and why. main events on. from your book. volues?
E nig :

10 2

AN T




Eggs .
efe ,—ﬂ\ Caterpillar
(larva)
) v0Qe R

Buiterfly
Life

Y, Chrysalis
(Ppupa)
== Butterfly
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Grows into B
an adult
L

ﬂ/\osf mammals give birth

to live young babies.
They look very similar to
their parents.

Female mammals feed
their babies milk from

their body, from
K mammary glands.

Gives birth to
piglets

.

Pregnant

female pig

\

4




HOW WELL DO YOU KNOW YOUR SPELLING?

Statutory Spelling List for children of Year 5 and Year 6

accommodate
accompany
according
achieve
aggressive
amateur
ancient
apparent
appreciate
attached
available
average
awkward
bargain
bruise
category
cemetery
committee
communicate
community
competition

conscience
conscious
confroversy
convenience
correspond
criticise
curiosity
definite
desperate
determined
develop
dictionary
disastrous
embarrass
environment
equipped
equipment
especially
exaggerate
excellent
existence

explanation
familiar
foreign
forty
frequently
government
guarantee
harass
hindrance
identity
immediately
interfere
interrupt
language
leisure
lightning
marvellous
mischievous
muscle
necessary

shoulder
signature
sincere
sincerely
soldier
stomach
sufficient
suggest
symbol
system
temperature
thorough
twelfth
variety
vegetable
vehicle
yacht




